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1. Which one of the following separates Tasmania
from Australia ?

(a) Great Austrhlj Bight
(b) Bass Strait ¢()
(c) Magellan Strait
(d) Tasman Sea<j
P~

2.  Consider the following statements with reference
to world population :

1. Brazil has the highest population among the
South American countries.

II. Asia continent has the highest growth rate of
population.,

III. Africa is the most densely populated

continent EPI:e world.

Which of the a@e statements is/are correct ?

(a) BothI andiql
® Onlym &
(c) BothIandII |
(@ OnlyI i

Which one of the following pairs is not correctly
matched ?

(Name of Country)

(Plantation Crop)
(a) Coffee - Uzbekistan
(b) Rubber %— Malaysia
©) Tea <f—  Srilanka
w 2 "
Nigeria

(d) Cocoa - =i-—
[

Which of the following commodity has the
greatest share of Indian exports ?

(a) Agricultural products

(b) Mineral ores

(¢) Handicrafts

(d) Engineering goods

Pt & F-a e a1 e &
AT FETE ?

(a) e 3fgforam amge

(b)~ S8 SeTEfy

(c) HieH Sierafy wq@
(d) TEHHETR E%

Ry s & dof # frefifea weAl W fEw

Hifere ; '

L Esie sfef owRehr 2wt H wed fue
S e |

n. wfmr T Ieaw sEeen 3R T
W@ | _

1. 37 fiva w1 gatfies gom T HerEia 8 |

I A A FH-AA F/E BT ?

(a) IR MIEMAT

(EEESI!

(c) 1M II2M

(d) FaAI

frafaftaa 7wt # & F9-w1 o vt @faa 78 2 2

(ST HHe) (91 %1 7TH)
(@) wFEar@d) - IEREH
®) @ - wfRE
(©) == - sfidw
(d) RIS ERR) - gsfEr

frefafaa & @ fra axg &1 fewar vty frafa
aifus g 7

(@ FIEE

(b) @@= T

(c) wwfTeq

(d) SShfafor wmm



Which of the following is not a Rabi pulse crop ?
(a) French bean

(b) Chickpea

(c) Green gram

(d) Lenul

*3* UNHSIV.-01
& ;‘;’hich one.of th.e following pairs (Folk dance — Freforfa % 4 -4 T (A T — eafr
ace of Origin) is not correctly matched ? M) Fﬁ'ﬂi‘i@a?ﬁ% 2
(@) Yakshagana — Rajasthan (a) TETH =frereoT
(b) Kaikottikal - Keralq b) T e
(¢) Koli — Maharashira ™ Freft e
(d) Himachali - Kully Valley o P g?‘
(d) femrereh greey ot
6.  Deficiency nf: Wwhich of the following elements ﬁﬁ%ﬁﬁﬂﬁﬁ%ﬂﬂﬁﬁﬂ%m‘ﬂﬁ‘ﬂﬁﬁ
causes yellowing and poor growth of the plants ? ST & o 379 e Ay et 2 2
(a) Boron (a) A
(b) Phosphorus b) FIERRT
(c) Calcium ®) .
(d) Nitrogen i), e
B TR 232
7. Match List-I with List-Il and choose the correct !fﬂ-lﬁlﬁ% @ gafera Hifsr o frr e o 2
answer using the codes given below : AR eyl ﬁ{‘@aﬂﬁﬁ"z
i(:;ﬂ:dh : List-Il -1 \D -1
uddhist text (Content) ;1% (ﬁ-w_
A. Vinaya Pitaka i. Regional histories of o ! o
- : A fafes 0 dgwdFédm
Buddhism e
B. Sutta Pitaka ii. Buddha’s teachings B ﬁﬂﬁ?ﬁﬁ i gzaﬁ’rﬁmri
C. Abhidhamma iii. Rules for those joining Cc. sfwmfes il Mgvsimbaey
Pitaka the Buddhist monastic ' " vt e R
order
D. werEw fugs iv. SRS ATHe
D. Mahavamsa iv. Philosophical matters o
Pitaka e Q
- (a) A-iii, B, C-iv, D-i
(8) A-iii, B-ii, C-iv, D-i S S g
(b) A-iv, B-iii, C-i, D-i 4R, AT S oty T2
(¢) A-iii, B-iv, C-ii, D-i — (d) A-iii, B, C-i, D-ii
(d) A-iii, B-iv, C-i, D-ii E’k
8.

frefafaa # @ S o = A 2o waa 787
22

(a) ¥ FAl (G )

(b) =

(c) ‘i"

(d) Wt
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10.

11.

12.

13.

Ashish leaves his house at 20 minutes to seven in
the moming and reaches Kunal’s house in
25 minutes. They finish their breakfast in another
15 minutes and leave for theig-?f[ice, which takes
another 35 minutes to reach. ADwhat time do they

leave Kunal’s house to reach Heir office ?
(a) 8:15 AM (b) <F20 AM
(c) 7:45 AM

(d) P40 AM

Find the missing number :

1?Y|8 |3\(|4 19 4
729 2

1225
(a) 641 (b) 1542 o
() 529 (d) %9 =

The final of the World Chess {ghampionship 2024,
was played between : <t

(a) Ding Liren and D. Gukésh

(b) Viswanathan Anand and D. Gukesh

(c) Magnus Carlsen and Vladimir Kramnik

(d) Ding Liren and Vladimir Kramnik

A family consists of six members P, Q, R, S, T and
U. There are two married couples. Q is a doctor
and the father of T. U is the grandfather of R and
is a contractor. S is the grandmother of T and is a
housewife, There is one do&tér, one contractor,
one nurse, one housewife an o students in the
family. Which of the folloyag is definitely a

group of male members 7  <{"
@ U,T ®gurT
(c) QU,P d QU

Introducing Shyam, a lady said, “The father of his
father-in-law is my father-in-law.” How is Shyam
related to the lady ?
(a) Father

(¢) Son-in-law

(b) Husband
(d) Son

10.

11.

12.

ey goE g see o e e woem W
foepetar & afft 25 fire § el & ST UEEAT ® | 9
3Tt 15 foe § 7qT TIvar @ dd € S 3
i 3 fore feer st €, sl wg= # 35 e afk
aa & | 3 g e e ¥ forg Fome F WA
forer Ty forapera € 2

(a) 9ma: 8:15 (b) rd: 7:20
- (c) 9Id: 7:45 (d) 9ra: 7:40
o wEr g1 Ff |

17 18 | I

3\( 4 I9Y‘I»
729 ?

1225
(a) 641 (b) 542
(c) 529 (d) 639

forvar w1 Aftazafi 2024 #7 wrEAE S T
AT T AT ?

(a), fémeiia v &

(b) TarvamTer 37 o &,

(c) HTHE Fictad Ta s Fmis

(d) féreie v sareidi semfes

THIREN H ©: ¥ P, Q, R, S, Ta¥T U & | uf@w
% 3 fafea 19 € | Q U Siwet R st Twr frar 2
U, R &1 31&T & 37 98 Th S92R & | S, T HI Rt 2

- 3R 8 G feft # 1 afan e S, u S

T T, OF ievlt qun & v ¥ | refafaa § @

a1 e w9 @ qov vl FramE R 2
(@ UT (b) QU, T
() QU,P d QU g%g

13. T T TR 3 5T, O Hiew 3 T, 5 g

T S | AT 1 IW HieaT & w1 Haw R 0
(a) foar (b) ufx
(c) M B A

' S
& —_— _S
o ';:
5



Sge—ana

. . i T
e Rt A ——— N —
T —

B2

14

15.

16.

17.

18.

19.

20.
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Which internationg) Sports event was held in the
United Kingdom for the first time in

featuring teams from, India and other countri

es?
(@) Badminton World Championship
(b) Kabaddi Worlg Cup
(¢) Hockey World Cup .
(d) Cricket Worlq Cup E%

The 2024 Nobel Prize in Physiology or Medicine
Wwas awarded to Vict

or Ambros and Gary Ruvkun
for discovering :

(a) Messenger RNA

(b) Ribosomal RNA
(¢) Transfer RNA

(d) Micro RNAs

In which country was the world’

wind farm inaugurated in Augus
(a) Germany

(c) Taiwan

s largest offshore
12024 7
(b) Denmark

(d) United Kingdom

In March 2025, NASA astronauts Butch Wilmore

and Sunita Williams returned to Earth on board
SpaceX’s spacecraft named :

(a) Challenger (b) Dragon
(¢) Columbia (d) Discovery

In the 2024 Paris Olympics, the men’s freestyle
57 kg wrestling event Bronze medal was won by :
(a) D.T.Cruz (b) Sarabjot Singh

(c) Akshdeep Singh (d) Aman Sehrawat

India’s first manned deep ocean mission is
named :
(a) Vikramaditya

(b) Samudrayaan
(c) Varunayaan

(d) DIVE Indja

Which city will host the 2026 Commonwealth
Games ?
(a) Glasgow

(b) Ilirminghum'
(¢) Hamilton

(d) Melbourne

14,

15,

16.

17,

18.

19.

20.

2025 ¥ TEel! AT FES FhTSH H F-AT A
Qe oo fore T o, R v ik 3 2
i 3 s ferar 2

(a) e fova Afagafim

(b) wezdt g g

(c) &ht Rrawg - E‘a,%
(d) T v ag B
a&zmwﬁﬁm’uﬁsﬁmﬁ%ﬁqwﬂéa

TR
Ferrex wrsiter 3t o e ey B i o o

& ?

(a) ¥~ 3T (bzgmaﬁmamm
©) TERAAT  (dhp e e

WZO%ﬁgﬁm%E‘a@r%ﬂMaﬂ
3g1eA e 31 3 R 9

(a) <t (b 7o

(c) aTdam (d) FaTEeE fohmren

A 2025 ﬁ.m%@qﬁmﬁaﬁnqﬁgﬂm
ﬁmawmmmﬁmm
WES?

(@) ¥ T

(c) Hrafiamn (c@%ﬁa&
2024%%%%;?_&15&5#3@
VRISt et e orem s shiear e Ry e
T ?

(@) €& = (b) w=ia Riz

(c) v firm (d) ¥ WevEa

W o SO W S 3 frym w A
?7

k) fawmfes (b) WHzI™
(c) TEEE (ﬁm?ﬁm
2026%W@ﬁ3ﬂ%¢@mﬁmmﬁ
B2 r'ff
(@) T (b it
(c) eftrees

(d) vt
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21.  Which of the following pairs (State — Name of the | 21, f=iferiad Il (U5 — Fraam & &1 ™) F §

Coal field) is mot correctly matched ? Fr-a1 wd gafera 7&t & ?
(State) (Name of the Coal field) AT) (T &7 FT 7TH)
(a) Odisha — Talcher () 3fsm - d@=C
(b) Madhya Pradesh — Singareni (b) mEATRW - fame
(c) Chhattisga% - Korba (c) oI - WIEr
(d) Maha:ashtr'g — Wardha Valley (d) TENg — gyt Eﬁ
22. Which of the f@owing pairs is not correctly | 22, ﬁﬂ%ﬁﬂﬁﬁﬂﬁ-mﬁﬁﬁﬁﬂ%ﬁ?ﬁ%?
matched ? [ N
(2) ?Eﬁq.?rﬁ:[ — HoA Qe
(@) Tuticorin — Fishing Harbour I 8
(b) Chennai Artificial Harb = s ) .
i _ g
: o 111C1a aroour (c) & mmmm
(¢) Kolkata - Deepest Harbour of LIGIE D]
Indi ' .
“ ndia W - H‘@ﬁﬁﬁ‘ﬂmﬂq
(d) Visakhapatnam — Natural Harbour

23. Match List-I W@List-ll and choose the correct | 23, F=fi-1 & G-I 4 gafera e ik = g xe

answer using thé €bdes given below : T SN S EE SECHAT -
gam: of E List-IT e - - Eﬁ?—ﬂ :
iosphere (Location (State)) dreram (raftefa @=))
Reserve) ) _
A. Manas - i. Meghalaya e
B. Similipal ii. Kerala e
C. Agasthyamalai iii. Odisha s
D. Nokrek iv. Assam HEq
Codes : r; &e:
@- -
(a) A-ii, B-iii, Giv, D- (a) ~ A-ii, B-iii, C-iv, D-i
(b) A-i, B-ii, @=1ii, D-1v (6 AL, Bii, Ciiii, Deiv
(c) A-iv, Biii, C-ii, D-i ,
% (}) A-iv, B-iii, C-ii, D-i

(d) A-iv, B-ii, C-iii, D-i

(d) A-iv, B-ii, C-iii, D-i
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24. Padl.’na B‘.hushan 2025 awardee for Science and | 24, = 2025 ¥ fagm e Sfafor F a9 JaREU q
Engineering, Vinod Dham is known for his role in amﬁﬂﬁﬂm_@ﬁmn ¥ 3T ‘Iﬁﬂ%
the development of f s smar g T~
() The Pentium Chip (b) RISC Computing b 8 T
e ) (@ Yemfag, @) Risc _
(c 1 rocessors (d) SPARC Systems ’
(c) ZiLOG Wit (d). SPARC JuITedt
25.  India’s Chandrayaan-3 made a soft landing on the | 25. YT ¥ TaF-3 =T w0 wiive S o, ot
moon, making India the country to do mtma;@aﬁf“ AT
S0.
(a) fachm (b) T
(a) Second (b) Third Eiceal
(c) Fourth (d) None of the above © aﬂﬁ (d) i
26. The Lok Sabha Elections 2024 were held in how | 26, @i &1 A 2024 At =it § d@o= @
many phases ? e
(a) 9 phases (b) 7 phases (a) 9= (b) 7T
(c) 8 phases (d) 6 phases (c) 8= (d) 6= Eﬁ
27. In 2025, how many individuals were honoured | 27, &9 2025 &, fry3afirmit =1 “war gy g &
with the ‘Padma Vibhushan’ award ? et of
)
(a) 6 ®) 5 (© 7 (d) 4 @) ‘6 ®% (@7 (d) 4
28. Which one of the following is an Export|28. fr=ffad & & ®.a1 Fatd veerwr (SrafEm) &
Processing Zone 7 27
(2) Bengaluru (b) Delhi (a) dFrgge (b) faesht
(c) Kanpur (d) Falta SEZ © FER (d) wreeTa
29. When was the ‘Zero Poverty Campaign’ started by | 29, 30 Y391 TR gRT “STRY et 1Rmm e gy
the Uttar Pradesh Government ? ferar R 2
(a) 26 Janvary,2025 (b) 2 October, 2024 (@) 2659al, 2025  (b) 2 ¥, 2024
(c) 26 January, 2024 (d) 15 August, 2024 (c) 267a{, 2024  (d) 15 3T, 2024
30. What initiative did the Indian Government launch | 30, mmﬁw@ﬁwﬁamﬁ: e S et
to encourage climate-friendly lifestyle choices mﬁ%%@%ﬁﬁaﬁ TEATTH & 2
among citizens ? —fay eha smaﬁ@
(a) Green India Mission (b) forem EmsE M
(b) Mission LiFE stfirar
(c) Swachh Bharat Abhiyan 24 () e &
(d) National Mission for Clean Ganga & (@ T s
31. Which one of the following has received the Major | 31, Fr=ferfia & & fraa fow & w2 @e ™ TERR

Dhyan Chand Khel Ratna Award 2024 ?
(a) Sukhjeet Singh

(b) Annu Rani

(c) Vantika Agrawal

(d) D. Gukesh

2024 faeme 2

(a) gasha fbe
@J,-Cﬂﬂl'l:ﬁ
(c) dfcem smaETe

@
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32. Which of the following are water-soluble | 32. ﬁqﬁ‘fﬁﬁﬁﬁﬁ-ﬁaﬁﬁwﬁﬁﬁaﬁqﬁ ?
. vitamins ? M~ (@) faift| c 3D
(a) Vitam'ins CandD % (b) R B 3k D
(b) Vitamins B and D < palce
(c) Vitamins B and C . (e TR
(d) Vitamins A and B <t 1 () fazf A2k
33. Given below are two Stalementsl:;ne is labelled as | 33, 4 & F Ry mw § Fed ¥ TE A
Assertion (A) and other is labelled as AR (A) 39 ZE F FTT (R) FT T

34.

35.

36.

Reason (R).

Assertion (4) : Amphibians can tolerate mixing of
oxygenated and deoxygenated blood.

Reason (R) : Amphibians are animals with two
chambered heart.

Select the correct answer using the codes given
below : ™

(a) Assertion (A) is false, but %ason (R) is true.
(b) Both Assertion (A) and Reagon (R) are true,
but Reason (R) is not the ddidect explanation
of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Both Assertion (A) and Reason (R) are true
and Reason (R) is the correct explanation of
the Assertion (A).

()
(d)

Which of the following part of brain is known as

‘little brain’ ? P~

(a) Medula (b) Cerebellum

(c) Pons (d) brum
o

‘Knock-Knee’ Syndrome rcgﬂvs due to the
pollution of
(a) Phosphates
(c) Nitrates

(b) Fluorides
(d) Heavy metals

Blood is a type of

(a) Connective tissue
(b) Muscular tissue
(c) Nervous tissue
(d) Epithelial tissue

34,

3s.

36.

AFIA (A) - T et TAT ST T

FREA R TREFAS |

AT (R) : ST AT el gad aret aoft § |

ey R T e S FEANT S EE I HT A R

(a) TR (A) Tl 8, T FOT (R) FeA 2 |

(b) I (A) 3N F (R) FFT T €, T
FI (R), AR (A) T W AT TET
FATR |

(c) T (A) §e ], W] HWT (R) TA R |

(d) IREE (A) 3R FOT (R) IHT T § AR
FIOT (R), T (A) T T AT FdTl
21

frafofaa & & wieass &1 FF-a1 Wi o wiEss
FeA@IR ?

(a) wggen (b) HEew |
(c) U@ ) Fem =53
Hrep-Ar fegm & WYV F FRIT AT 2 |
(a) HRHE (b) RIHESH

(c) TrseEE (d) ST eTdt

Tad Teh WL hl !

(a) WA Faw

(b) Uxfia Faw

(c) i Fae

(d) ITFHT Fdw
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37.

38.

39.

40.

41.

42,
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Which among the following was not one of those

states which were annexed to the British Empire

by Lord Dalhousie on the pretext of the ‘Doctrine
of Lapse’ ?

(a) Kamnataka
(b) Nagpur
(c) Jhansi

(d) Satara

Who was the Governor General and Viceroy of

Indi.a at the time of the formation of the Indian
National Congress ?

(@) Lord Curzon

(b) Lord Dufferin
(c) Lord Lansdowne
(d) Lord Ripon

Who presided over the first session of All India
Trade Union Congress at Bombay ?

(a) N.M. Joshi

(b) Lala Lajpat Rai

(c) B. Shiva Rao
BEE

(d) S.A.Dange - E‘ii‘_i

Who established the Central Hindu College in

Banaras, which later emerged as the focal poilj( of

Banaras Hindu University ?

()

(b)

(c)

(d

Swami Dayanand

Bal Gangadhar Tilak
Annie Besant

Madan Mohan Malviya

Where was the first session of the Indian National
Congress held ?

(a) Lahore

(b) Bombay

(c) Poona

(d) Calcutta

In which year was the Uttar Pradesh State Organic
Certification Agency established ?
(a) 2007 (b) 201}
(¢) 2005 (d) 2013

37,

38.

39.

40.

41.

42.

Frtefaa & & a7 weg 37 Tl # whtafaa 78
o1, S ST STt g s fifer o e e
ST H fire R s 9

(a) FACH
(b) APTYL
oy~ Freh

(d) Fam

YA TS $08 & 139 & @99 9id H
T ST R T30 1 97 2

(a) SIEE !

(b) S THRA

(c) wre TS

(4 ©ie R

awd #§ oflae welT ¥ gfraw w0E & wed
feraer i sTeerarfaee < oft 2

(0) TR

) anamﬁmr@

(c) i Rawa E

(d) wET i
T W oA feg #m, S oA §
fe= forvafereers & F=-forg & w0 & W a1, i
AT fome i oft 2

(a) @ FAF=

(b) = TiTeR faerR

© wham

(d) e HiET ATere gy

TG Trgier R e STRIT et o gat

746464

oqr 2 ©
ﬂ.
(a) ETER I~
(b) =
(c) T Shy
O 25

fore ad o I R Ty I SiiTor Tt Y
AT L TS 2 .
(3) 2007
(c) 2005

(b)
(d)

2011
2013
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44,

45.

46.

47,

48.

49.

Which cash crop is the major contributor to the
agriculture economy of Uttar Pradesh ?
(a) Maize (b) Cotton
(c) Sugarcane (d) Wheat
P

“Operation Kayakalp""écheme launched in Uttar
Pradesh is related to : <f _

(@) Expanding univeiiity infrastructure

(b) Revamping primiry schools

(c) Promoting skill-based education

(d) Improving higher education

In 2023 - 24, which state was the leading producer
of food grains in India ?

(a) Maharashtra

(b) Madhya Pradesh

(c) Uttar Pradesh

: - g
d) Punjab or 1]
(d) ja z:;gj‘ E‘%

When was the ‘Kisan%itra Yojana’ started in

Uttar Pradesh ? <
(@ 18June,2010 ™b) 18 August, 2001
(c) 18 June, 2001 (d) 18 August, 2010
Consider the following figures :

2 6 3 ?

80 24 120 | 36

What is the missing number ?
(a 10 M) 8
© 9 D@ 7

What was the Fiscal H;gj.th Index of Uttar Pradesh
in the year 2022 - 23
(a) 459
() 350

(b) 37-0
d) 479

Which of the following is an ocean current of the
Atlantic Ocean ? ‘

(a) Humboldt current (b) California current
(c) Alaska current (d) Benguela current

43.

44.

45.

48.

46.

47.

I NN A FY refarn # form FeRdt HE @
e AV § ?

(a) HEH (b) waE

(& T @

IR A YE A W ST HEeT” AT
frad wefta g 2

(a) favafemmea & gfard g @ fawm wer
® sruftres et st greeR

(c) rrS-3aTivd e = sgrar &

(d) == frend gun

I # 2023 — 24 ¥ HH-AIRIST Grem= et woft
IS AT 7

(a) HEUS

(b) HEF W

@) IWI

(d) W=

SW SR ¥ Fram fim e FwgE s 2

(a) 18,2010 (b) 1837, 2001

(c) 18SH, 2001 (d) 18 37T, 2010

= & d srrrfedt w e it -

2 | 6 3| 9

80 | 24 120 | 36
T TR ?
(@ 10 ®) 8 340
© 9 @) 7 G2
a§ 2022 - 23 § IW WO F TR @
I (et dour $3) fhamr a2
(a) 459 (b) 370
(s) 350 (d) 479

49. Frefafes & & S wg uro sweeifs e

g2
(a) w=IeE yw (b) Hfrwar urg
K€)  STATHT YT (d) SuET uw



2
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50.

51.

52.

53.
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Which one of the following states recorded the
maximum decadal growtp

during the period 2001 of urban population

4 =2011 2
() Maharashtra (b) Nagaland
(C) Kerala (d) Sikkim

Which of the following river originates from
Mansarovar in Tibet

— and passes through
Shipki La mountain pass 7

(a) Chenab (b) Beas

(¢) Ravi (d) Satlyj

The Brahma temple of Pushkar is in which of the
following states ?

(a) Rajasthan

(b) Uttar Pradesh

(¢) Gujarat

(d) Himachal Pradesh

Arrange the following states in ascending order on
the basis of percentage of Tribal population as per
Census 2011 :

1. Madhya Pradesh
II. Mabharashtra

IIIL.
IV.

Select the correct answer from the codes given

Rajasthan
Meghalaya

below :
(@ IV,LILII
(© ILIULLIV

(b) IILIV,INI
(d) LILII, IV

Which one of the following states was most
urbanised as per Census 20117
(a) Guijarat (b) Goa

(c) Tamil Nadu (d) Maharashtra

50.

51.

52.

53.

54.

F=fafes # & s ¥ 2001 - 2011 ¥ 2 H
AN et ST it sifmay qerhg gy s # 2
@ Wy N (b)) TEdes '

() = @) fafres

6464

.
Prefrfes & Ao T e & AT @
Ixfr gre TR o1 veTdh S A el R 2

(3) W (b) =™

(c) Tt (d) Hags

TRt a1 ST AR Frefeifaa & & fore T o R @
2

ﬁw

(b) ST -
(c) TeITA %
(@) fermewRw -%

2011ﬁwm%§'3m,ﬁm%rﬁ§anw‘h%mﬁ
SIS SIEEAT & ST & STUR 9T A 79 1
it Hifsg '

. TRy

0. TERg

o, e ‘
V. 9ged %ﬁ
e fo o e # & W I T wgA A

() LIV, I T
(¢) LILILIV

@ IV,LILI
() ILILLIV S

w
BE

2011 ¥ ST HOTER Fefefaa § & A
T T AT Tghd o1 ?
(a) T (b) &

(c) dferTg (@ wETTSS
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55. Match List-I1 with List-Il and choose the correct | 55. JﬁTIE‘ﬁ na ﬁqm{?
answer using the codes given below : =1 i o I g
List-I . Listll geh-1 g1l
A. Kushanas ‘4(5 Devaputra A, FAO i 23'37
B. Pulakeshinll <if: Sakalottarapathanatha B. qoaiM fadid i, gehelraaeTy
C. Harshavardhana ﬁ Dakshinapatheshwara C. wadH iii. afomyAeat
D. Samudragupta iv. Kaviraj . D. R[S iv. Shferst
Codes : w2
(@) A, B-iii, C-ii, D-iv (a) A-i, B-iii, C-ii, D-iv
LB A, L Dy (b) A-ii, B-i, C-iii, D-iv
(c) A-iii, B-iv, C-ii, D-i 4@ i Beiv. Coii. Do
(d) A-ii, B-iii, C-i, D-iv = eyt et B, 20, Do
' (d) A-ii, B-iii, C-i, D-iv
56. Which of the following pairs is not correctly | 56, ﬁt{%ﬁgﬂﬁﬁaﬁq-mwaﬁgﬁﬁﬁ?ﬁ%°
matched ? (a) Taart yurrelt — HErE
(a)) §Y°“”aﬁ S;’“‘?‘L‘ Madf;s : (b) Tt s — st
(b) Permanent Settlement — enga :
HETAATE! WUITet — IC-afy=s diar aid
(c) Mahalwari System — North-West Provinces & 8 ()
(@) Talugdari Systéfp— Bombay (Mumbai) (d) TeTeRand SOt
57. For which of the f‘oli;wing rulers, is it said in the | 57. fr=fafaa ¥ & frg W ¥ R wm -1
‘Udaipur ~ Prashasti’ that “He achieved, FaTaTEfF mﬁagw@'qmsﬁ(www
accomplished and made possible everything that forar ik s < avr fedt TR 699 9 &t ga;r
could not have been done by anyone else” ? ar 9
(a) Sindhuraj - ——
(b) Vakpati Munja (:) i
(¢) Mihira Bhoja (b) SR o
(d) Bhoja (©) s -
@ Wi o
58.  Which of the followjng kings stated that “All our | 58, Fr=fifias & & fivg T =5y Fo § foh g |
people should creat good deeds, free from all ST Hehul &7 Y HTdt §-§ e amz:m‘r@rgaa
disasters, enjoy the)Jpy with minds unpolluted M%aﬁﬁauﬂﬁmm*ﬁnﬁ "9
with jealousy” ? < @)
(a) Samudragupta ™~ b =T i
(b) Chandragupta Maurya () T
(c) Harshavardhana (©) ¥
(d) Ashoka @) i
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59. Find the missing number - 59. T @e&aT I hifrg ;
/4\ 6 7 4 6 7
T
A= A A /N /N /N
o * 3 46 3 6 5 5 46 3
" ;
) 6 23 :,g (a) 86 ®) 76
- e () 67 (d) 55
60. !ﬂ a code I?ﬂgﬂagm “tob is0 har” means ‘Tobacco | 60. T&h Fe Wi[Lﬁ, “tob iso har” &1 379 ® ‘Tobacco is
;13 :‘?nnfuld, avdhar hab" means *Avoid harmul harmful’, “d¢o har hab” %71 314 2 *Avoid harmful
abit’, and “ple avo tab” means ‘Please avoid i :m.,t’ (0 - ’ :
tobacco’. Which is the code used for ‘habit’ ? ::: :; - |kml:i:ita;:ﬁtra; E!;:T ::ij Plea;;;\f:;
(a) tob (‘b) hab % 5 .,d. - L E
(¢) avo (d) har (‘) ” > o E
a) to a
(c) avo (d) har
61. In a queue of boys, A is seventh from the left and | 61. STeteht shr e e &, AT 37K & TR T T A T
¥3 is fourth from the rightt When A and B TRff 3T T =Y T T B 3T R | 1T A TUT B 39T
interchange their positions, then A becomes T SO T S A E, oY A 9 Y 155 =
fifteenth from the left. Find the position of B from WEET Y | e AR B%mm Hf |
the right.
(a) 19th () 12th (a) 199 )t
(c) 20th (d) 17th (c) 203% (d) 174t
; y ! 3
62. Find the value of x, if : 62. x %1 9M IEhifaT, afe
2+3=11, 2433,
3*5=23, 3*5=23,
and x * 6 =41. W x*6=41%|
(a) 6 (b) 4 (@) 6 (b) 4
B4E 5k
© 5 (@ 3 =42 @© 5 @ 3 S
63. Abagcontainsf-S.i‘ZandTlcnins intheratioof | 63. THAAWETS, T2 aME I FATH3:4:5F
3:4: 5. The total value of all the coins is T8 1of el e gew2,1002 1 M des ¥
% 2,100. How many coins of T 5 are there in the
. [ETE ﬁﬁé\% ?
2
bag ? (a) 250 <
((‘;)) z;g ® 2252
(c) 245 (c) 245~
(d) 210 (d) 210
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64.

65.

66.

Match List-I with List-II and choose the correct
answer using the codes given below :

List-1 List-II
(Natural Source) (Acid)
A. Vinegar i?_ Methanoic acid
B. Tamarind WD Lactic acid
C. Sour milk (curd) q_% Acetic acid
D. Nettle sting :{ Tartaric acid
Codes :
(@) A-iv, B-i, C-iii, D-ii
(b) A-iii, B-iv, C-ii, D-i
(c) A-i, B-iii, C-iv, D-ii -
(d) A-ii, B-iii, C-iv, D-i E%

What is “Hydroponics® ?

(a) Soil conservation

(b) Grafting a plant

(c) Study of vegetables

(d) Growing a plant withqyt soil
: ™~

64647

Given below are two Statements, one is labelled as
Assertion (A) and other is labelled as
Reason (R).

Assertion (4) : In photosynthesis, the radiation
energy of sunlight is converted into chemical
energy and stored in food materials,

Reason (R) : The final product of photosynthesis
is glucose sugar, which séon turns into starch.
Select the correct answeégsing the codes given
below : <t

(a) Assertion (A) is falséBut Reason (R) is true.
(b) Both Assertion (A) aid Reason (R) are true
and Reason (R) is the correct explanation of
the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Both Assertion (A) and Reason (R) are true,
but Reason (R) is not the correct explanation
of the Assertion (A).

().
(d)

64.

65.

g1 1 g1 & Al g A Ry
Wmﬁﬂﬁmﬁﬁﬂ:

P 0wp

(a) A-iv, B-i, C-iii, D-ii
(B A, B-iv, C-ii, D
(¢) A-i, B-iii, C-iv, D-ii
(d) A-ii, B-iii, C-iv, D-i

0(-{0]
(d) o frdh o drar oo E%E-

66. I & = iy ™ ¥, Red ¥ w W

AT (A) 3R GE R F10T (R) FR1TEIR |
HANEHYT (4) : SH-ETRNT ¥4 & wam $i
%&mmﬁaﬁmﬁmmﬁm@mwﬁ
4 dfvra fr s 2 |
FR (R) : W-ﬁsﬁwanaﬁwmva@a
m%,ﬁ%mﬁwh(mé)ﬁmaamm
A o T e 1 v v et s s i
(a) RWFUT (A) T B, Tog I (R) TR B
(b) v (A) 3k FROT (R) 2 vy & 3
:‘W(R),W(A)ﬁuﬁmm
I
() TR (A) T R, T T (R) TR
(@) A (A) sit o (R) A we §, T
' W(R),W(A)ﬁm&wwiﬁ
AR
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67.

68.

69.

70.

i (B

When d{d the Anti-Partition Movement begin with
a massive demonstratiop 4 the Town Hall,

*15° UNHSIV.-01
67. AR F A T ¥ U AT W F Y
ferrom & forta & arieter s woT g 2

Calcutta ?

(a) 16th October, 1905
(b) 7th August, 1905
(c) 16th August, 1905
(d) Sth August, 1905

On defeating whmh po[itician, did Subhas

Cha-nd:a Bose become the President of the Indian
National Congress ?

(@) C. Rajagopalachari

(b) Sardar Patel]

(c) Pattabhi Sitaramayya EgE
(d) Jawaharlal Nehry B

Which of the following countries did not
recognize the Azad Hind Government ?
(a) Philippines (b) Indonesia
(c) TItaly (d) Germany

Match List-I with List-IT and choose the correct
answer using the codes given below :

List-I List-IT

A. Jat Rebellion i. 1554 AD.
B. Bundela Rebellion ii. 1672 A.D.
C. Satnami Rebellion iii. 1669 A.D.
D. Sikh Rebellion iv. 1675 A.D.
Codes : |

(@) A-i, B-ii, C-iv, D-iii

(b) A-ii, B-iv, C-i, D-iii

(¢) A-iv, B-iii, C-ii, D-i

(d) A-iii, B-i, C-ii, D-iv

In which session of the Congress was the “Purna
Swaraj” resolution passed ?

(a) Madras session

(b) Lahore session

(c) Lucknow session

(d) Calcutta session

68.

69.

70.

71.

(a) 16 IS, 1905 Ft
(by 73T, 1905 =
(c) 16 37T, 1905 Tt
(d) 5 3T, 1905 +

U == S for TeRe sl w0 T

TS HIO & g a1 9
(a) . T

(b) WER IS ';}'
(c) eIy Hardar (3
(d) SEREEIEE O

ﬁnﬁiﬁaﬁﬁﬂ%ﬁ%mﬁmﬁzmaﬁ
qgar 781 &t oft ?
(@ fefadfa

(c) weeft (d) S

et-1 =t geft-1 & g fifsmg of = fag mo e
wmﬁﬁiﬁmﬂﬁqz

-1 -1
A TRfEE 1554 %,
B. FeanfaEe 1672 %.
C. waar fase ﬁg 1669 5.
D. frafaEe V- 1675%.
we

(@) A-i, B-ii, C-iv, D-iii
(b) A-ii, B-iv, C-i, D-iii
(¢) A-iv, B-iii, C-ii, D-i

(dy A-iii, B-i, C-ii, D-iv

EEE
B

ﬁ&a%ﬁuaﬁémﬁ“@ﬁw‘ " 1 &I AT
EB]T‘?JT?

(a) wEW ey
(b) <R FfETE
(c) @IS AftEyH
(d) Fetear AfET=

74648
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T2.

73.

74.

75.

Which fruit ranks first in India in terms of
production ?

(a) Papaya (b) Mango

(c) Guava (d) Banana

‘Kisan Call Centre’ was started by

(a) NABARD

(b) ICAR

(c) State Agri@'tural University

(d) Ministry ¢%F Agriculture and Farmers

Welfare, Government of India

q‘
Which of the following belongs to cash crops ?
1. Potato

Il. Rice

ITI. Sugarcane
IV. Cotton

V. Rapeseed

Select the cortect answer from the codes given
below : <t
(a) III, IV ani
(b) L II and HD
I, III

(c) I,III and ﬁ .
(d) ILIandIV =i
Match List-I with List-II and choose the correct
answer using the codes given below :

List-I List-II
(Crops) (Diseases)
A. Paddy i.  Wilt disease
B. Wheat I~ ii. Black Rust
G, Sugarcan;g iii. Red Rot
D. Pigeon ng iv. Brown leaf spot

Codes :
(a)

N

A-iv, B-ii, C-iii, D-i
A-i, B-iii, C-ii, D-iv
A-iii, B-i, C-ii, D-iv
A-ii, B-iii, C-iv, D-i

(c)
(d)

_'"ﬂ
UNHSIV.-01

72. e g & v # fore et S U T R 2

(a) T (M I

() FES (d)
73, “Fram wier §eC R R

off |

(aff TS

(b) FHLAN

A4d) ﬁqﬁﬁ:ﬂﬂwﬁmﬁu,mm
74, Freforfia o A 1 Todl woE & Gafea g ?

. AR

. 4™

. =

IV, &9

V. uhe g (QuEs)

e g e e # & v e 9 il

(a) MLIV3IRV
(b) I, 113 I

¢) I, MRV oF 0
Ed:; I, 3RV E‘iﬁ
75. GElt-1 1 -1 @ ghfera hifsrg o A e o e

-1 -1
(<) @)

A. °9H i. ST

B. il hTell TS

C. T ii. ST e

D. 3WEX iv. I3 ofie Wie

e

(@) A-iv, B-ii, C-iii, D-i
(b) A-i, Biii, C-ii, D-iv
() A-iii, B-i, C-ii, D-iv

(d) A-ii, B-iii, C-iv, D-i
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7. which of the followin

17.

18.

81.

@
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g pairs t — Qil) is not
correctly matched 2 vee i

(a) Mineral oi] — Petroleum

(b) Vegetable fats — Phytosterol
(c) Mustard oil — Lubricant

(d) Animal fats — Cholestero]

“Aqua Regia”
following ?

(a) HCIl and HF

(b) Concentrated HCI and Concentrated HNO,
(c) HCl and HBr
(d) Concentrated HCI and Concentrated H,80,

:l"he type of mirror used in the headlight of a car
1S 2

IS a mixture of which of the

(@) Plane convex mirror
(b) Concave mirror

(c) Plane mirror :
(d) Convex mirror gg
Which of the following is not a luminous object ?
Flame of candle

Moon

®)
(©)
@

Electric lamp
Sun

The distance at which the average radius of Earth’s
orbit subtends an angle of 1 arc second, is known
as:

(a)
(b)
(c)
(d)

1 Fermi
1 astronomical unit
1 Parsec

1 light year

Which of the following is correct ?

90

(a) 1metre=10 nanometre
19

(b) 1 metre= 10 nanometre

9
() 1 metre =10 nanometre

(d) None of the above

76.

T

78.

79.

80.

81.

Frefafaa gt @ - o) # & S vl i
TR

(a) @@= aer - Wferan

(b) Tt TET - FRARTS

(c) wTE i

(d) ma&%q

Yo et @ e oo & 2

(a) HCM”@F

(b) H HCI 3R HNO, 4

(c) HCI 3R HBr

(d) §F=HCI 3R &= H,S0,

FHI T 2sage H 39T foFy S arer 2 o weR
?:

(a) I A 4T

(b) el Fqur

(c) Wﬁ?g

(d) I UL
ﬁnﬁfféﬁﬁ@ﬁq-maﬁﬁg?ﬁ%?

(@) e ERhSaTeT

(b) ==

(c) ﬁgﬁﬂ'ﬂq
d) ¥

& T 510 9 qeaft A e Y sivea B 1 o
HHUS T HIVT AR F &, T 2 -

(@) 1%Hf

(b) | GRS
(©) | uEEs

(d) 1m§ [ 249
e e &

@ 1= 10"" et

() 1HRT=10" ¥nfrex

© 1= 10 3nflex
(d) Iugart & & A 7t
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82.

83.

Which of the following statements is/are correct in
the context of the Treaty of Lahore (1846) ?

I The Maharaja left all his territories beyond
the river Satluj forever,

Il.  The Maharaja left his rights over all the
forts between the Satluj and Beas rivers in

favour of the Company.
HI.  The English army c?uld no longer pass
through the Sikh Statee;;r
Select the correct answer Em;y-the codes given
below : O
(2) Only IT and III 4

(b) Only I and II
(c) I, IIand I

EgE
(@ OnlyI | Az

I~

Match List-I with List-II a@choose the correct
answer using the codes giveribelow -

List-1 List-11 \é-}
A. Igta i. A portlon
B. Mahrousa ii. Land under state
administration

C. Khalisa iii.
D. Shiq iv.

Land revenue

Protected town

Codes :
(@) A-i, B-ii, C-iii, D-iv

(b) A-iii, B-i, C-iv, D-ii

(c) A-ii, B-i, C-iv, D-iii

7464647

(d) A-iii, B-iv, C-ii, D-i

“

UNHS|v =01

82. mﬁt@rqﬁx(lsﬁ)%aﬁﬁﬁnﬁrﬁgﬁﬁ%

_m{ﬂ'mﬂﬁ%f%?

| TS e T 3 R 3 ST e iy

| ga¥Rude i

[, o o = ARt F di9 F wh ol
mammm%wﬁm
e

1. 3t ¥ o e oea F @ 7€ TR g
off |

2 o e 2 F & Wt I =T v
(a) et 13RI

(b) Faer 13RI
(©) I, 113 I
(d) *adI

-Iaimﬁllﬁgﬂﬁmﬁﬁqaﬂtﬁﬁqwﬁ
wmmnﬁmﬁﬁﬁ

i1 -1
A T i wENE
B. ®Wel®r i, T3 SITEA % ef s
C. Eifqm i, 9 ERISES|

D. f=& v, e

e ;

e

(@) A-i, B-ij, C-iii, D-iv
(b) A-iii, B-j, C-iv, D-ii

&
(¢) A-ii, B-i, C-iv, D-iii :

(d) A-iii, B-iv, C-ii, D-i
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84

85.

§6.

87.

88.

89.
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e pheno ‘
The p menon of ‘urban heat islands” refers
to -

(@)
(b)
©

Decreased €nergy consumption
Increased tree cover

Higher temperatyre in urban areas than
nearby rural areas

(d) Decreased temperatyre in urban areas
Biofertilizers are :

(a) Organic manures

(b) Cultures of micro-organisms

(c) Green manures

(d) None of the above

Which of the following states of India has higher
number of females than males ?

(a) Karnataka (b) Tamil Nadu
(c) Kerala (d) West Bengal

When was the first Mineral Policy announced in
the State of Uttar Pradesh ?

(2 On December 29, 1999
(b) On December 29, 1996
(c) On December 29, 1997
(d) On December 29, 1998

G2

Which website has been prepared to monitor the-
financial activities of the State of Uttar Pradesh ?

(a) Arthashastra (b) Srishti
(c) NIC (d) Koshvani

Who is the author of the book “The Population
Bomb”' ?

(a) Malthus
(c) Thompson
In which city is the ‘National Institute of
Agricultural Economics and Policy Research’

(b) Paul R. Ehrlich
(d) Donald Bogue

located ?

(a) Lucknow (b) New Delhi

84.

85.

87.

(c) Hyderabad (d) Mumbai

88.

89.

90.

“qreet o SN < afere fhed efifa w 2

(a) St o IO H

(b) &7 TaTor ht Hferepar

(c) m-wma:m%‘iﬁrmﬁéﬁﬁm
O

ATHH -
(d) wEdt & H aron St

AT E IE

(a) S @R

O Teu-Siar & HaH (Fee)

(c) wEe g;i%
(d) I 7@ S A o
W ¥ Freffaa o @ fra Tea i aitemen i g
T & At R 2

(a) FHAIEH (b) dfterTg

() & (d) ufimsma

I 92 T veeht Whs HAifq we it i
ot 2

(a) 29 feEw, 1999?#&%

by 29 R, 1996 Fa

(c) 29 fe@m=r, 1997 &t

(@) 29 femws, 1998 &t

IR RN U faref it 6t Pt e & e
HH- YT AR A TR 2

(a) rfamre b) qiE

(c) TWAFH(NIC) (d) HrEmEmh

g YIGET T TR G % Shah FH E 2
.

_(p) WU b) U AW, el

(c) dmgEd @) SHIES AT

{o)
wet A R 2 2
(a) @IS
(c) TR

(b) % feeett
(d) H§
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91. Consider the following events and arrange them in | 91. il M =% w8
correct chronological order : Wﬁ‘mﬁﬂﬁﬁﬁn{ L
I.  Cabinet Mission [ ¥hee g
II.  Cripps Mission . fF= o g
II.  Quit India Movement I11. I B! AN E
IV. Mountbatten Plan [v. ATEESE A
Select the correct answer from the codes given r forg T e B W Hel I H =TI T :
below : I, I, III, IV
(@ LILIL,IV LI
®) ILIL LIV @ ILULLI
(¢ ILLILIV - (¢ ILLILIV
d IV,L 1,11 =1 @ 1V, LIL 1l
92. Consider the following statements : 92. fr=faRaa FeAi wt famm Fifsre :
I The first Muslim President of Indian 1. mmmmm%w@r
National Congress was Badruddin Tyabji. mftem sreaE 9 | C.D
I. The first woman President of Indian IL. nﬂﬁﬂm@m@uu@uﬁ%ﬂﬁ?ﬁ
National Congress was Sarojini Naidu. Tiger aTege of | <
Which of the statements above is/are correct ? ST § | HE-H/A A H‘B‘T%fg
(a) Neither I'norII ' (@) FALIHDO
(b) OnlyII () ¥
(c) BothIandII
1 3R 11 g1
(d) OnlylI EgE
(d) Faal Fr
93. With reference to ‘Ajivika Sect’, which of the | 93, ‘3efifes wwemr & wed #, Prafafas & &
following statements is/are correct ? T AR T TR L 9

I. Ajivika sect followers mostly lived in forests.

II. This sect enjoyed great respect during the
Maurya era.

Select the correct answer from the codes given

below :

(a) Neither I nor Il

(b) OnlylI

(c) BothIandIl

(d) Onlyl

L 3iifae Hyer & & W Eﬁﬁtﬁ%é‘n
IL. ¥ wraTa i i 1 & ekt S |

ﬁﬁqmaﬁﬁﬁqﬁmma@ﬁq
(@) AAMLTE1 ,\_

(b) FaSAII

(c) 13RIt

(d) Faw]



95.

96.

97.

98.

UNHSIV.-01

24| 2
6|3
(@ 120
(c) 29 ®) 16
(d) 18

I.u 2 code language, ‘MISTAKE® is written as
9765412’ and ‘NAKED’ is written as ‘84123,

Then, in the same language, how will
‘INTIMATE” be written ?

(a) 78698365

(b) 78579452

(c) 79438163

(d) 897866145 =iz

In the following question, select the related word
pair from the given alternatives :

Tuberculosis : Lungs : : Typhoid : ?

(a) Brain (b) Intestine

(c) Lungs (d) Kidney

Which one of the following figure is different from
the rest ?

o A ?

(d)

A

(c)

The year 2036 will have the same calendar as that
of :

(a) 2009
(c) 2008

(b) 2007
(d) 2006

95.

96.

97.

98.

Frefafaa fom 3, g dem < & e waad
e et 7

e
&
24| 2 <
©
N~
6|3
(a) 120 (b) 16 _—
(c) 29 (d) 18 ﬁé’é

forelt sz woT | “MISTAKE’ #Y ‘9765412 feran
ST @ 3R ‘NAKED’ &1 ‘84123 Rt smar 2 1 &
‘INTIMATE’ &t 36t 91 33 femar s 2

(a) 78698365 P
(b) 78579452 o
(c) 79438163 E
(d) 897866145 <+

M

Frafafaq g d, ﬁqnqﬁwq‘iﬁﬁmiﬁamgw
T
Hﬁﬁﬁ:aﬂ%: :CIRHIES & ?

(a) wis (b) fa
(©) F%3 (d) FFh
ﬁmﬁf@amﬁﬁﬁﬂaﬂ:&ﬁ I =R 2
® ® 1 /A

it

<)

%S
(c) d) <«

. y

o 2036 1 Feret A€t B, W PR 2
(a) 2009 & (b) 2007 %
(¢) 2008 (d) 2006 =
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99.

100.

101.

102.

103.

Which one of the following
matched ?

(Mountain

Passjg
SinLa
Nathu

pairs is not correctly

(State)

(a)
(b)
(c) Zoji Lah
(d) ShipkiLa Himachal Pradesh

“Yela Mala’ is the name of which of the following
0
(a) Shevaroy Hills
(b) Garo Hills
(c) Anaimalai Hills oP0)
(d) Cardamom Hills G
Which one of the following pairs (Tree — Area) is
not correctly fnatched ?
() Sal—Nomih-eastern parts of the Indian

<r Peninsula
(b) Teak - \s.gslem part of the Indian Peninsula
(c) Deodar I™Nilgiri Hills
(d) Sundari — Sundarban Delta
Which of the following is a local storm of Bengal
and Assam, useful for tea and rice cultivation ?
(a) Karaburan
(b) Blossom shower
(c) Norwesters
(d) Mango shower

Uttarakhand
Sikkim
Arunachal Pradesh

©
lq..
t-O-—

—_—

Which one of the following Union Territories of
India had the. highest literacy rate in 2011
Census? I

(® .
(a) Andamangand Nicobar Islands

"(b) Chmdig@

104,

(¢) Daman 2nd Diu

(d) Lakshadweep

Plants that tolerate a wide range of temperatures
throughout the year, are called :

(a) Hekistothermal  (b) Eurythermal

(c) Microthermal (d) Stenothermal

100.

101.

UNHSIV .o,

ggmg.ﬁﬁﬁﬁmm@ww?ﬁ%?

gEdaR) ()
) By - FRRS
@ e - ffE
©) FISIES — TS o
(@ Bodar - [LIECRE

frerfefia 3 & foreenr T et AT ® ?

Prafafaa gmt (& - &%) § @ 791 & adt
gafera 78T 8 2

(2) T — ST WAL & It Wi

(b) FII — AT Wragia w1 afEet s

() R e wefat

102.

103,

104.

() T8 - Yo e
ﬁﬁ%ﬁaaﬁ%ﬁ?-mwmuqmmamﬁ
o4 9 99 H @ F e anems 2
(a) ST

(ORESIGERUETE

(c) FEwH ;
(&J)/ Bt yita &
2011 Y SFETUET  WRE % Prefafas = wfva
YR 8 & fererehY wmarar ot ewan off 9

(@) veHH R Frepram deage

(b) =g

(c) T

(d) wrerElg

a9 S ad e 3 a3 o freqa frem wwe
?Iﬁ‘%.%?ﬂﬁ%:

(a) PRIt (b) gheenfa

(c) wrgmRIer (d) Rerpda



o

105. Which agro-clima¢

106.

107.

108.

109.

110.

111.

*23i

UNHSIV.-01

ic Zone in Uttar Pradesh is most

vulnerable to climate change impacts, I-"‘miculmh'r

in agriculture 9
(a) Western Plain Zope
(b) Bundelkhang Fone
(¢) Eastern Plain Zope
(d) Central Plajy Zone

:{‘hc name of the scientist who proposed the
Ten Percent Ryle» of energy is :

(a) Haeckel (b) Lindeman
() Tansley (d) Odum

Which one of the following is a landlocked
harbour ?

(a) Haldia

(b) Ennore
(c) Mumbai

(d) Visakhapatnam

The *hydrological cycle’ is controlled by :

(a) Grasslands (b) Epiphytes
(c) Lichens (d) Forests

According to Census 2011, which of the following
Union Territories has the highest population
density ?

(@
(b)
(©
(d)

Puducherry
Lakshadweep

Daman and Diu -
Dadra and Nagar Haveli E‘g?.»
What is the purpose of the “PRANA" portal ?
(a)
(b)

Industrial emissions control
Monitoring the National
Programme (NCAP)

Plastic waste management
Water pollution menitoring

Clean: Air

(c)
(d)

Which of the following states of India has the
highest density of population ?

(a) Uttar Pradesh (b) Bihar

(c) Madhya Pradesh  (d) Punjab

105.

106.

107.

108.

109.

110.

111,

I T | M-8 FiY-STerary & sterary R
yvTEl, fadtee it & ufy gad i daefa
27

(a) uferdt e &=

(b) Herave &

(c) et Aarh &

(d) wex At a

M
ﬁﬁafré;m wferera =1 Fr 33 arer A A
t: b

(a) T ) Riddw

(c) o (d) sArsm

frafafae & & =@ & wesg (SredEs)
SEUIR R ?

(a) wfe=an (b) TER

© (@ formaTez

STl ash’ o A e

(a) T (b) ferared

(c) <A (d ==
2011%%@,mﬁﬁﬁmaﬁ
mﬁa%nmmﬁwmmfﬁm%?

(@) 3

(b) e

(c) THATET

(d) <rew 3R TR g

“PRANA” Yot %1 T 3991 & 2

(a) 3MNfire Seasta frEor

(b) Tfia = arg FRE (NCAP) Ft ot

(c) &M 3mfire yeug -

(d) %ﬁgﬂﬁmﬁﬁ 5
<t

WA T o AR T i T S

e W ST R 2

(a) IATCWRY

(c) Heg w2y

(- farem

(d) 99T
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112. Whi ing i : Ppeferfiad 3
1 ich of the following is mot an Operating | 112. - A0 (b) ey

System ? (a) LIEEIGINES

(a) Microsoft Office (b) Linux ©) e @ ﬂ

(c) Windows (d) Unix X = # S i
113. Which one of the following Chola Kings | 113. ﬁﬁ%ﬂa}:{@ = o

destroyed the Chera navy at Trivam%n and then 7w & 3 o0 E S

captured the Pandyan King ? w o7 7

(a) Kulottunga g (@) WT

(b) Rajendra I N o,

(¢) Rajarajal (b) g

(d) Rajadhiraja (€ T

(d) TRt
114. A MAC (Media Access Control) address is | 114, us i (e GG FZIen 030 feema
bits long. garel
(a) 128 (b) 48 48
(a) 128 (b) ,

© 64 @ 32 o 64 @ 32 =42
115. The famous Battle of Haldighati be%.een Akbar | 115, 3ehert 3R HERIV FATY % Hell Wi gea o) #1 3%

and Maharana Pratap was fought in year : ST AT Y

@) LTS AR, &) 157948 (@) 1576%.% (b) 1579%.%

. & IDTAD. @ 1595 Arfi) () 15973 % (d) 1575%.F

Who among the following assumed the titles of
“Yamin-ul-Khilafat” and  “Nasir-e-amir-ul-

116.

116. Fafafan & & Ry <afimsaReamse 3k

“TIRA-C-SR-IA- M < sarfmt amer =5 2

Momineen” ?

(a) Alauddin Khalji EZ)) w‘ wTH frersh

g (c) ToRtrr v e

(c) Firoz Shah Tughlaq _— S

(d) Nasiruddin Mahmud =5 (@) T T
117. Intel Core i9 is a type of Q 117. S K i9 Uh THR 1 2

(a) Processor (b) Mothetlipard (a) N ITiery b) WEEE

(c) Hard disk (d) None e above

< (c) T fewm (@) I F P A
118. The grand stupa of Amaravati was built by the | 118, 3MUEH F weq w oy T
. YT TT 97 |

(a) Vakataka Dynasty (a) ST e

(b) Maurya dynasty (b) W T

(c) Shunga dynasty (© T

(d) Satavahana dynasty

(d) wraETET sy
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119. Which of the following critics used the term | 119. Freiferfea 3 & firm iﬂ T
“Quasi-Federal” for the Indian system Of *%qﬂf_'___._ HeTere 13 1 !
government ? (a) AR, e
(8 B.R. Ambedkar (b) SETEET YeE
(b) Jawaharlal Nehry (c) F.H. =
(©) K.C. Wheare Fmﬁ :
(d) Laski o 5 EreToT AT
120. Distribution of Taxes between Centre and States | 120, WA H 3 % T »
in India is done by the - fa) ®&g =T
(a) Parliament (b) m(‘%ﬁm
(b) Planning Commission © gitye
(¢) National Development Council TN
(d) Finance Commission @ i
121. Which among the following is nor a ﬁart of the | 121, F=fafad & & == Aify s 3w gfteg =

Governing Council of NITI Aayog ?
(@) Govemors of States
(b) Chief Ministers of Delhi and Puducherry

(¢) Lieutenant Govemor of Andaman and
Nicobar Islands

(d) All Chief Ministers of States

122. Among the following, wﬁich one is the statutory
body ?

(a) Labour Commission

(b) NITI Aayog
(c) Planning Commission E.?%
(d) Finance Commission Bl

123. Estimation of National Income in India is done by
the :

(a) Reserve Bank of India

(b) National Income Committee

(c) National Statistical Office

(d) Planning Commission

124, Who among the following was the first Indian to
be awarded the ‘Bharat Ratna’ ?

(a) Nelson Mandela

(b) C. Rajagopalachari

(¢) Abdul Ghaffar Khan

(d) Pranab Mukherjee

122.

123.

124,

femmgiemre 2

(a) TSAT & T=ITA

(b) Teeeft oit gt & g wsh

() 3 3N Felem goee & Aftede Tat
(d) T et e

©
PR -t e e e 2
(a) =™
(b) Hife s
(c) TISHT 3TN
(d) o s

I § TS 37T 7 1ot ST R -

(a) ¥ e S

(b) Tt 3 wfify

(©) Mﬂ@ﬁaﬁqmﬁq _

(d) AsFIRRT =45
‘:ro :

N AT

R 4 o 9

(a) ATET e

(b) . TSR

(c) T TR @1

(d) W s



B = r v N
[0f+{0)|
= : - 26;/’___——-—— ____--—\
ﬁ?& forr AT TRE TS TR SR Wity oy i
125. Which State Government has started the scheme | 125. f
‘Nivesh Mitra® ? g7
(2) Maharashtra (a) TERS
(b) Tamil Nadu ) g
(c) Uttar Pradesh © SnIe-Chll SE)
(d) Madhya Pradesh @ e e Bl
R ICIRIE SFATT AT G e 5
126. What is the name of the third volume of 126. A Ll
Akbarnama written by Abul Faz] ? =7 :IT‘:T%r ?
(a) Sipah-Abadi (a) for-3Tard
(b) Sulh-i.-Kul - (b) GEETFA
(c) Manzil-Abadi < ) HRe
(d) Ain-e-Akbari <© (
© e R e e
127. Which state has the lafFest cconomy in India? | 127, et 3 el =t nefedareet fhm Toa 12 ¢
(a) Maharashtra ' (a)~ FENTS
(b) Gujarat TS
(c) Uttar Pradesh g:; TR
(d) Tamil Nadu
(d) dFeETg

128. Before his death in 1539 A.D., whom did Baba
Guru Nanak choose as his successor ?

(@) Guru Angad
(b) Guru Namdev f‘%:
(c) Guru Arjan {9

(d) Guru Tegh Baha@

E.!'gﬁl
=
Elrsz

129. How much were India’s foreign exchange reserves
at the end of December 2024 ?
(a) USD 653-97 Billion
(b) USD 629 Billion
(c) USD 640-3 Billion
(d) USD 578 Billion

P

P
130. Which among the folloWing is the largest Stupa in
the world ? %
(a) Bharhut Stupa 0
(b) Dhamek Stupa ;i

(c) Kesariya Stupa
(d) Sanchi Stupa

128. 1539 3. § 39 §og F [, AT T® THF T oy

mﬁm%aaﬁgm?
(a) &3

(b) TEATRT

(c) ﬂESFh

(dy TR T eI

129. fewmam 2024 ¥ s & R < faraeft gar sien e

a1 2
@) 65397 faferas smifeh <ier
(b) 629 fafera smifeht Sierc
(©)- 640-3 faforam ariifey <o
(@) 578 faferr st <

Freforfen & & v =1 gy

@) Ty
(b) ‘Tﬁaﬁm‘g

(c) %ﬂﬁm@
Jeh Iﬁa‘*rmrmg

130. TS HY HH-ATR ?
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131. Which one of the following is a correct match ? | 131. ﬁn%f@aﬁﬂﬂq-mmaﬁgﬁ%ﬁ% ?
(a) Sevagram Project _ Vinoba Bhave (@) VWA - RErwd
(b) Grow More Food — Jawaharlal Nehru (b) AVFITIRMN - FEEE T
Campaign IR %
 (©) Co-operative — Mahatma Gandhi (c) wEehTiGT ‘3“% —  TETCT e
Movement (d) zeTETUEeR E e WA
(d) EtawahPilot - Albert Myre RS
Project
132. Which of the following chemicals is used to hasten | 132, fFr=fafed & & HH-a1 WA wat 1 iy gvE &
ripening of fruits ? fa s e 2
(a) Indole-3-Butyric acid Fid aﬂ%itﬁi
. a -3- ?{RT{-.'
(b) Malic hydrazide - A TR
(c) Cycocel ®) f—
(d) Ethrel 25 ©
Bt _(,d) O]

133. Consider the following statements with reference
to the 16th Finance Commission :

[. The Commission was constituted on 31st

December, 2024.
II. Shri Arvind Panagariya is its Chairman.

Which of the above statements is/are correct ?
(a) Neither I nor II (b) OnlyIl
(¢) BothIandII (d) Onlyl

134. The Destructive Insects and Pests Act (DIPA) was
passed in the year .
(a) 1957 (b) 1929
(c) 1946 (d) 1914

135. Which of the following is not a beneficial

insect ?

(@) Helicoverpa armigera
(b) Bombyx mori

(¢) Laccifer lacca

(d) Apis mellifera

133, 1@%%%@&%%@“%
*'ﬁﬁm

. SATANT HT A 3%@1 2024 1 gAT AT |
L aﬁaﬂﬁawﬁmmm%l

ST B & HH-E1/A O L R/ 2
(@ TNLIALD (b) Faa I _
(c) 13N IIEMT (d) SHadI %%

134, fommerntt fie ik dres sfufan @ anddiy) o
H i@ gem AT |

(@) 1957 (b) 1929
() 1946 I () 1914
135. ﬁﬁfiﬁﬂﬁ%ﬁqi@mmﬁnﬁ%?
(a) efcretayl
(b) wifaFmaR ™
(c) IR w1
(d) QT Afarda




3 28" D g
' g & A FAET AR Ty 4
136. Which of the following is the correct chronolo 6 e

136.
of the given events ? o !

-g'gj'l'a’ e PR A, fy
(2) August Offer,Cabinet Mission Plan, Shimla @ FT ’
Conference, C‘F@ps Mission
(b) August Offes? Crj - i
gu i+ Cripps Mission, Shimla

Conference, Gdbinet Mission Plan e %ﬁﬁiﬁmm |
(c) Shimla Confe?‘e-:hce, Cripps Mission, August et werer, e e, e SRR
Offer, Cabinet Mission Plan © Fe fave RIEE ,

(d) Shimla Conference, Cabinet Mission Plan, e, Sfede e
August Offer, Cripps Mission @ B : i .

'Hﬁﬂa-, fa;c\q ﬁm

137. According to which Article of the Indian | 137. SRl d o . Ny : "hmiﬁm:'
Constitution, — “No citizen shall, on grounds only q’rﬂfl‘ﬁﬁ_____jm S k'—"_‘__—f“ﬁrnw :
of religion, race, caste, sex, descent, place of birth, = W?‘ﬁ & ferel? oft ks i
residence or any of them, be ineligible for, or ,ﬂﬁqﬁﬁ?mﬁﬁiﬁ?ﬂﬁ’ﬂﬁm BRI Ea

discriminated against in respect of, any ey T ST T e st 2
employment or office under the State” ?

(a) Article17 <t (b) Article 15 (a) FFR17 (b) T LS

(©) Aticle 162) &£ (d) Article 16(4) () TR 16(2) (d) T 164)
138. Which of the following pairs is not correctly | 138. ﬁﬂﬁl‘fﬁﬁﬁﬁﬂﬂ%ﬂﬂﬂﬂiﬁ@%ﬁﬂﬁ%?

matched ? [ e m) 3 )

(Fundamental Rights (Articles) )
i (@) TecEaTH ARER ¢ HTRTE 19-22

a) Rightto Freedom : Articles 1922 )
i RS ©) wifREEaw o e -4

(b) Rightto Freedom : Articles 23 —24 s
of Religion _
©n depfr e see29-30
(c) Cultural and : Articles 29 - 30 taith
Educational ¥ erehr
Rights @ wmrw s TR 14 - 18

; 4 B4
(d) R.igh,ltoEquz{lgy : Articles 14 - 18 E%é

Q. -
139. In which part of the:Jndian Constitution, have the | 139, Wﬁ%m%ﬁ"qqmﬂ'ﬁa‘hqﬁmﬁwﬁﬁu

provisions for eleciio been made ? TRdy |
(a) PartXVII p~ (b) PartXV - (@) T XV and () WXV 157
(c) Part XVI (d) PartXIV 242 @ ;
i WXVI(16)§  (d) WeTXIV (14)
140. Who was the first speaker of the Lok S:abha ? 140. &= T ¥ apy )Eﬁ? s
(a) G.V.Mavalankar (b) Ravi Rai (@) sfrt : ®) .
(c) * Mira Kumar (d) Balram Jakhar Tt

) i gam (d) e TS
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-
ja1. T 1 Rci yrg 2 147, GO A AR amu | A i g T fad
(a) G F RN R 7
(b) TeiTITEY (@ e faor
(@ U=t (b) uReEES
(d) Fedmd (©) g«mﬁﬁm@
(d) mmﬁi’rera)
142. FreafRefae foretr vroc-q o o w2 148, PR & & F-aran qur @1 cataah T
(a) IR -¥yax g7
(b) -z (a) T (b) W
() MR- 3y (c) fafira (d) UrRq
@ - 149. it 3Fe= =T 8 1 FE AT oo R -
143.ﬁ@nﬁqﬁﬁﬁw%mﬁ%qﬁmw% o e
(b) wferdror
(a) JASH — priee © o
@) Tz E% 150. ﬁm@w%mﬁmﬁ%
: @ "3
144, “9TRI’ We “UTRr WIs% o facim 1 od fyseg 2 ) W
(3) IR, AT @
(b) 3mTEl, anfaiE @ Mren
PR Eg— 151. freferfea & & i w1 vt 77 2 -
(d) T, T PR
(b) STt
145, Fr=rfafaa weu fasim-gmi & | & = (c) TR _
ifire S @ wmiw S
(@) et g 152, Preafian i & <o S v 2
(b) ST FrT (a) T SP(b) g
() aféor—am (c) W ™ () af
d) fafr—fow
153. Feferaa & & frw we & @t vz yataard 725
146, freiffiga # & arps Rrem-gm 8 €2
() TiRE - @md (a) &, =g, 3, Arem
(b) 379 — oft TN (b) TIEY, €, SRAH, R
(c) Afeqs - Afrard () TRm, 30y, wyq@, ¥

(d) ¥, 3, Yetian, Tefta



%?;g - UNHSIV"N
154, ‘37 wreat : 'aﬁaﬂﬁaﬁ“ﬁmﬁm%'m
- & for o w1 & Frafifea i 34 | 160- o 1 AT AT E 2
P A TR b
(@ @ gL Ll
(b) ez ) e ferrT
@ @A 5o @)~ fortrr
1s5. R el a1 i amrrien 7 2 awin F o 1. e L A I L T
S T R (a) R~ FE
(a) ﬁ'u'crc: (b) Eﬂ'{—-@(
(b) :’W (C) Eq—gz
() T¥gE _ @ e — A
@) faw 22 ‘
156. I i 3z & Y 1oz it vewE Hifvm - 162, a AR AET 1T | A | femer ez @
(c) Tt = (@ s (b) AR
157. 'm%mmwﬁqﬁgﬁm?ﬁm (c) @& .
27 < @ 3
(a) ¥ et are - fereret
(b) TS ¥ = it yfir - 39T 163. mﬁmﬁﬁm-mmw?wﬁ%:
(c) ST WINH T el — firarerd (a) wTeef — areft
(d) 9ETS % F i wHae H — siftrera (b) FfdahT — I
158. Tt 61 3fE & @ wedt F W frwew A qemw (Z) m‘“'?ﬁ'—m@
#Hifse - (d) — {at
(a) I, WeXiHI, JaEAT, fvat : ..
(b) W, 164. 3Tifrfiad o & “qean wrsa 1 9= A :
(c) @ftefi, anfewsh, srefenss, wHafag (@) e
(d) uem, fag, 3T (b) TETEy
P~ (c) mas
159, it & @ fre foes % o wed A adn | O T
TG R 7 165. Frefafia yredi # & e ez awa 22
(a) gz, fafg, qam= (a) 3y
(b) wrTEd, a4, faen (b) iy
(c) M, gva, ave (¢) =
(d) =HieRd, STA, 39 (d) =g
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166. :ﬁ%%aﬁﬁﬁq-mmm-wﬁgﬁﬁﬂa
?

(a)
(b)
(c)

Tifeer iR sfem s e w2
et Y e 3w w3 o w1
3HHT Y F FHER ¥ TR i sfieor 0 o
o

(d) & 37 e e wxar € |
167. T A 3B A syE IR R -

(a) HATINFTH ®) ¥GH
(c) aTemtfensh (d) ngafes

168. Freferfiaa & & vz s = v Sifvi
(a) THOET A Y ATFHTH |
b)) FE IR TR
(c) wWETAHIEAR|
(d) fFargewerar?

169. S A T I hIfT :
(@) TR IEET IS BT @ T |
(b) & 37T 1@ |
(c) TR RTdugsar|
(d) TETARTE U AT R |

170. Frerfafae & & fora area & s &1 v vam 78t
g7
(a) q FOAT T ST |
(b) T T TR T |
(c) T% M gHA el e |

EgE

(d) & 9T FH F A E%E:
17, sdftfgRagEm=?:

ORSLY (b) TRITT

(c) g (d) SRR
172. adA H g A B TR R :

OBk (b) 3ehfiren

(c) 3 (@) fea=g

UNHSIV.-01
173, 980 V&2 FAEH T2 -
(a) wifae
(b) e
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